Fire Inspection and Code Enforcement, 8th Edition 

Means of Egress

Chapter 7 Test

	Name:
	
	Date:
	


Directions: Write the correct letter on the blank before each question.
Objective 1:
Explain the way to calculate occupant loads for multiuse occupancies.


1.
Which of the following statements about determining occupant load is MOST accurate?  (268)


A.
Buildings that have more than one occupancy classification are very rare.


B.
Buildings can have multiple purposes but only one occupancy classification.


C.
Buildings that have multiple occupancy classifications must have the same general purpose.

D.
Buildings are often used for more than one purpose or contain more than one occupancy classification.



2.
For a building or a portion of a building that has more than one use, the occupant load is determined by the:  (268)

A.
median number of all persons that occupy the building.

B.
average number of all persons that occupy the building.

C.
use that allows for the fewest number of persons occupying the building.

D.
use that allows for the largest number of persons to occupy the building.


3.
For a building or a portion of a building that contains two or more distinct occupancies, the occupant load is determined by calculating the occupant load for each of the occupancies separately and then:  (268)

A.
adding them.

B.
multiplying the total by 1.5.

C.
using the average for all occupancies.

D.
using the highest number for all occupancies.
Objective 2:

Explain the steps in determining means of egress.


4.
Which of the following BEST describes the capacity of the means of egress?  (268)


A.
The number of people who can move along the means of egress

B.
The number of people who can exit in less than three to five minutes

C.
The number of people who can exit in less than five to seven minutes

D.
The number of people who can fit in the means of egress while not moving


5.
The means of egress capacity must be at least:  (268)


A.
75% of the occupant load.

B.
90% of the occupant load.

C.
equal to the occupant load.


D.
one and one-half times the occupant load.


6.
Which of the following is the most common numerical factor used to determine the required width of the means of egress for stairways?  (268)


A.
0.2 inches (5.08 mm) per person

B.
0.3 inches (7.62 mm) per person

C.
1 inch (24.4 mm) per person

D.
2 inches (50.8 mm) per person


7.
Which of the following is the most common numerical factor used to determine the required width of the means of egress for ramps or level exit components?  (268)


A.
0.2 inches (5.08 mm) per person


B.
0.3 inches (7.62 mm) per person


C.
1 inch (24.4 mm) per person


D.
2 inches (50.8 mm) per person



8.
Which of the following statements about numerical factors for determining means of egress capacity is MOST accurate?  (269)


A.
Numerical factors are not used for hazardous occupancies.

B.
Hazardous occupancies must have greater numerical factors.

C.
Numerical factors do not change based on occupancy classification.

D.
Numerical factors are one and one-half times greater for hazardous occupancies.


9.
Which of the following will MOST likely make allowances for an occupancy when determining means of egress?  (269)


A.
Automatic sprinkler systems

B.
Number of fire drills performed

C.
Safety officers assigned to the building floors

D.
Whether the occupancy has ever had an incident


10.
How is the total exit capacity for the room or building determined?  (269)


A.
Adding the capacities of each individual means of egress

B.
Multiplying the capacities of each individual means of egress

C.
Using the highest number and multiplying it by the number of means of egress

D.
Using the average number and multiplying it by the number of means of egress


11.
Which of the following BEST determines the number of required exits?  (269)


A.
Total exit capacity

B.
Building management

C.
Layout of the building


D.
Insurance requirements



12.
When determining exit capacity, which of the following determines the total capacity for the means of egress?  (269)


A.
The average of all the elements


B.
The element with the smallest capacity

C.
The element with the greatest capacity

D.
The average of the elements with the smallest and greatest capacity  


13.
Stairways must be able to accommodate the:  (270)


A.
greatest number of people expected to occupy any single floor above.

B.
greatest number of people expected to occupy any single floor below.

C.
greatest number of people expected to occupy the topmost floor.

D.
average number of people expected to occupy any floor in the building.


14.
In multistory structures, personnel can use the emergency notification system to alert occupants to exit in order of:  (270)


A.
persons most likely to evacuate slowly.

B.
persons most likely to evacuate quickly.

C.
proximity to the emergency (or fire) floor.


D.
proximity to other emergency exits such as windows.


15.
In some jurisdictions, what is required for high-rise structures to control exiting the building?  (270)


A.
Egress timers

B.
Accountability systems 

C.
Designated fire wardens

D.
Building-wide intercom systems


16.
In most cases, the codes require that there be _____ exits from any balcony, mezzanine, story, or portion thereof that has an occupant load of 500 persons or less.  (270)


A.
at least two

B.
at least three

C.
a maximum of three

D.
a maximum of four


17.
For a balcony, mezzanine, story, or portion thereof that has an occupant load greater than 500 persons, the codes generally require:  (270)


A.
a minimum of two separate exits.

B.
a minimum of four separate exits.

C.
a minimum of three separate exits.

D.
at least one primary exit and one secondary exit.


18.
For a balcony, mezzanine, story, or portion thereof that has an occupant load greater than 1000 persons, the codes generally require:  (270)


A.
two or more exits.

B.
four or more exits.

C.
at least one primary exit and two secondary exits.

D.
at least two primary exits and one secondary exit.


19.
The codes specify that the exits should be as:  (271)


A.
close to each other as possible.

B.
remote from each other as possible.


C.
similar in décor to each other as possible.

D.
close to 90-degree angles from each other as possible.


20.
When two exits are required, they should be located:  (271)


A.
at exactly 90-degree angles within the room or building area.

B.
at approximately 30-degree angles within the room or building area.

C.
no less than half the length of the overall diagonal dimension of the room or building area.

D.
no less than one-third the length of the overall diagonal dimension of the room or building area.


21.
Which of the following BEST describes travel distance?  (272)


A.
The length of travel necessary before an exit is within sight

B.
The total length of travel necessary to entirely exit the incident scene

C.
The length of travel necessary before occupants are within easy rescue

D.
The total length of travel necessary to reach the protection of an exit


22.
In cases where the layout of the room is unknown or may change, the maximum travel distance is calculated by starting at the most remote point and proceeding by:  (272)


A.
following the walls to the door of the room.

B.
following a straight line from the remote point to the exit.

C.
creating an angular or zigzag pattern through the room to the exit.

D.
calculating distance of all possible routes to the exit and averaging the distance.


23.
What condition exists when a corridor has no outlet to a means of egress and is more than 20 feet (6 m) in length?  (272)


A.
Block corridor

B.
Looped corridor 


C.
Boxed-in corridor

D.
Dead-end corridor


24.
Which of the following refers to a path that all occupants must travel in one direction before reaching a point where they may choose between two separate and distinct paths leading to two separate exits?  (272)


A.
Gateway

B.
Forked pathway

C.
Primary path of travel

D.
Common path of travel



25.
What is the first step when determining means of egress requirements?  (275)


A.
Determine occupant load

B.
Determine clear width of each component

C.
Determine if egress capacity is sufficient

D.
Determine egress capacity of each component
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